ﬁ

(ath 2550-03 \
2[2\ /2

—

I




{Toe(c_ i" Boases \

Hor

This Top (s AbeuT <
Cooro‘\.\(\O\'k'Q s\)gjrf(\/\g

\{C_U\N( ngCC§~

/

et et \/ be o veeT
Det \ﬂwe( e\l F

A — -i)/ \Dc_ \/’QC'\—Q/S
L@'\’ \/\)\fL).,e) N

oV

Space

‘%'\f\O\'\_ A \/C,Cj\Dr

2 in dhe span oF
N ’:/ ) "/—\—;n F\'Q wWe can Wf\)“‘i
Ny )~ z)



4\ns 'S Called o (/'ngac .
Co(\/\\pif\o\fﬁ”{\ U'P Vlj\/L)'f’/V/\

o € Cayer Cn QN2 g cola (S

trom T 5

@/\\!\e_ 2pan o \/\)\/W“‘)\/”
f
‘H\e §€,SV @
5 A =) Ahe $&3
SPO\Y\<§\/U\/),)H(/\//\AK\Q/

@ TF W=span (3V )—'112,)“‘)?)/\’(15
5 .







That s, W= FV
'S W= TV
—

.-")
So, W

s In Fhe span Vi

Q T

Span OQ \/\

) Can W€ i

Thetr

<G/"‘{7 = c, < ‘/O> -

MO) be

<6/“L{> = <cl/D>

%:<Q/PL{> (o the
3
AN ?
o
e
=5
Z-:C_\\[\

couSt \fo\/\ WW\Q\ “660\




Span (i:/}\?]\: {C\ ~\a/l l C € IR}
:§C(<l,o7) C\GIR}

= %<C\)O>\ C\ék}

So, the span of L Consists of
a\\ Jechocs of the o rm <<,10>\













_1::};' ek \/:Rz)F:K

Led V= \
\ {207, V=<7

yecdr e the span

A/\ e xample
.

4 —)
\\/l'\"Z\/L: <2)\>+ <—2/Z>




pu—

\

P

_C‘Ol\f\’\! E\/G/xj \/éc_'h)r _“(‘f\ \?\
¢ 1a the Span ok V.= <20

o NGV That 15,
5 - -
| V) Ve Span al ot R

—

?(ooj%.- Le‘\' <q)\97 be Swme

Vet Foom A \ie%lq
S how et €on e

Le ComRS§

T1/\\§ Q"j{\/&(\ﬁb/\
<0\)\ﬂ> = <ZC\)Cl>Jr <~C2)Cl>

LA ‘:/.)‘\\/(’-g







~ e,z b-C = '<N\§a%%L)\
L = 30 i
a«\ff///
- >< ' ‘>ﬁ
, vecsr <o LD (s M the

’ﬂm,s ey<( 3
Soan o V=420, =Y V @]



——

- L8 by = (o2 7
_ _LD+%2)-<Z/\>
Zg .2>'<~\,\>




Theoem: Let | be o vechr

(@(ciwre,ﬂ\e“ n=3)




